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Student:




REPIEAT!

HELLO!
(34)

Prague 11th - 15th May

Drilem:

*plnovyznamova slovesa - klad, otazka a zapor v celé tabulce - budouci ¢as, ptitomny cas,
minuly ¢as (perfektum a préteritum), podminka pritomnd, podminka minula

*some, any, no

*zptisobova slovesa "can, may, must" v pfitomném case

*podminka pritomna a minuly ¢as - préteritum u zpus. slovesa "can"

*zvratna a zduraznovaci zajmena, zvratna slovesa

*tazaci dovétky (Ze ano, Ze ne), potvrzovaci vyroky (on také, on také ne)

*prubéh v pritomném case a minulém case - préteritu

*predlozky mistni

*opis zpusobového slovesa "must"

*opis zpusobového slovesa "can"

*trpny rod

*opis zpusobového slovesa "may" - pfitomny ¢as, minuly ¢as - préteritum, budouci ¢as,
podminka pritomna, podminka minula

*"should" - doporuceni, vycitka

*"could" - vycitka "mirnd"

*domnénka urcitosti - klad, ptitomnost, budoucnost, minulost

*domneénka urcitosti - zapor, pritomnost, budoucnost, minulost

*domnénka moznosti - klad, zépor, pritomnost, budoucnost

*domnénka moznosti - klad, minulost

1. Translate: -I

1. Ona ur¢ité nic nevédéla. =
2. On urcité ztratil ty penize. =

3. Vy jste urité nic nevédgli. = _You can't have known anything.

She can't have known anything.

He must have lost the money.

4. Alice tam ur¢ité byla. — Alice must have been there.
5. Oni to ur¢ité poslali. = They must have sent it.
6. On ji uré&ité pozval. — He must have invited her.
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= ANGLICTINA pro star¥i ¥koldky v Jazykovém studiu ROLINO

Novi gramatika: Vyjadieni domn&nky moZnosti pomoci zpisobovych sloves v minulosti - zdpor

Chceme-li vyjadrit svou domnénku,

ze v minulosti MOZNA neprobihal néjaky déj nebo neexistovala néjakd skutecnost,
muzeme pouzit tzv. "domnénku moznosti do minulosti" v zdporu:

MAY NOT, MIGHT NOT + have + 3. tvar slovesa

(minuly infinitiv).

On tady moZna nebydlel. He may not have lived here. f‘ r‘”]| M
He might not have lived here. \‘\\“‘g. |
On moZna véera neodeSel. He may not have left yesterday. M

He might not have left yesterday.

2. Pelozte:  (Anglické véty napiste do sveho sesitu!)

Pozor na spravné pouZiti domnénky moZnosti!

== KIi¢ najdeS na konci lekce.

1. MoZn4 neméli Zadné problémy.

2. Jeji maminka moZna nic neslySela.
3. Jeho syn moZna nikam nejel.

4. Mij 3ef si to moZnd nepamatoval.

5. David moZna nic nenasel.

3. SAY IN DIFFERENT WORDS:

(PouZijte domnénku moZnosti do minulosti!)

1. It is possible that she didn't pay for the goods. =
She may / might not have payed for the goods.

2. Maybe he didn't eat anything. =
He may / might not have eaten anything.

3. Perhaps you weren't informed about it. =
You may / might not have been informed about it.
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4. Zopakujte si text “At the doctor's office — in the waiting room” ze 33. lekee.

CHOOSE THE CORRECT OPTION:

I.  Lilly was cutting  Potatoes

a) tomatoes potatoes c) apples
2. Mark had tonsillitis a month ago.
a) the flu b) pneumonia @ tonsillitis
3. Mark had _ pPneumonia a year ago.
pneumonia b) tonsillitis c) acold
4. Lilly broke her leg five years ago.
leg b) arm c) finger
5. Lilly had a white cast.

white b) blue ¢) pink

©d3)

5. ANSWER THE QUESTIONS: ]

[E—
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Whose hand is bleeding? Lilly's hand is bleeding.
What was Lilly cutting when she cut herself? She was cutting potatoes.
He has a fever, a cold, a sore throat, a headache

and a cough.
What health problem did Mark have a year ago? He had pneumonia.

What problems does Mark have?

What health problem did Mark have a month ago? He had tonsillitis.
What health problem did Lilly have five years ago? She had broken leg.

What happened to Mark’s sister two years ago?  She broke her arm.
Who had a pink cast? Mark's sister had a pink cast.

Who had a white cast? Lilly had a white cast.

Did Mark’s sister complain? ~ No, she didn't.
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6. MATCH: I
1. chripka A leg
2. zapal plic B arm
3. noha C flu
4. horecka D headache
5. angina E finger
6. prst F pneumonia
7. paze G fever
8. ryma H cough
9. kaSel [ tonsillitis
10. bolest hlavy J cold

momewonx\\* Ny Efi T’ E BYE BYE'

A U Nna p r. 1

| often get a cold in autumn and winter and
What health problems

do'youlhavemost often? — sometimes | get headaches.

What health problems My mother often has headaches and my father

2. | do the other members = has a backache sometimes.
of your family have?

5. | Haveyoueverbeenin  _ ygg | have been to a hospital once.
hospital?

What health problems | have a headache and a fever, I'm very tired and |

4. | doyou have whenyou = feel very sick.
have the flu?

Have you ever broken a

leg or an arm? = No, | haven't.
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1) MozZna neméli Zadné problémy.

= They may / might not have had any problems.
2) Jeji maminka mozna nic neslysela.

= Her Mum may / might not have heard anything.
3) Jeho syn mozna nikam nejel.

= His son may / might not have gone anywhere.
4) Muj Séf si to mozna nepamatoval.

= My boss may / might not have remembered it.
5) David mozna nic nenasel.

= David may / might not have found anything.
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Rolino metoda’® vyuky — https://www.rolino.cz/rolino-metoda/rolino-metoda-u-deti/
Pro veskeré dalsi informace navstivte nas web — https://www.rolino.cz/vyuka-deti/
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